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/*Fkekokekoksdokdokdokkokkok
/* main_process %/
/*Fkekokekoksdokdokdokkokkok

// gRed, gGreen, gBlueM2RJTELHIICY T 1) EHRDRGBIEMMIEMENTIVET
// B LY A XDgBuff_red, gBuff green, gBuff bluelZ#tRE{Z2 5K é‘— MmLTYAa—>LET

#tdefine AREA_INFO_MAX 1000 // area_info_counter M K{E
#tdefine AREA_INFO_CONTENTS 13 // area_infol[l[]MDIEE %k

// TIVT FL—RABOEN) TOEEEEELET
/) CTTIEaA VOBERBENAEH200~300E7EILOT) TOAENZTEHELSIZHTE
#tdefine COIN_WH_MIN 200
#define COIN_WH_MAX 300
int condition_func_coin(int top, int bottom, int left, int right, int trace_counter,
int pxl_counter) {
if (COIN_WH_MIN <= bottom — top + 1 && bottom - top + 1 <= COIN_WH_MAX &&

COIN_WH_MIN <= right - left + 1 && right — left + 1 <= COIN_WH_MAX)
return 1;
| else return 0;

[/ TYTDEHRERELTAREFL—RALET
int main process(un3|gned charx*x gRed, unsigned charxx gGreen, unsigned charxx gBlue,
unsigned char#x gBuff_red, unsigned char*x gBuff_green, unsigned charx**
gBuff_blue,
int width_pixel, int height_pixel) {

//tgGray[] [1 A€ HER
int i;
unsigned char*x gGray = (unsigned char*x)malloc (sizeof (unsighed charx) =*
height_pixel);
if (gGray == NULL) return -99;
unsigned charx gGray_p = (unsigned char*)malloc (sizeof (unsigned char) *
height_pixel * width_pixel);
if (gGray_p == NULL) {
free (gGray) ;
return -99;

]
for (i =0; i < height_pixel; i++) {
| gGray[i] = gGray_p + (long long)i * (long long)width_pixel;

/@Ob AT—IVEERLET
in
for (| =0; i < height_pixel; i++) {
for (j =0; j < width_pixel; j++) {
gGray[i][j] = (gRed[i][j] + gGreen[i][j] + gBluelilljl) / 3;

}

/] TR EITIL—IZLET

int value = 255;

int diff_distance = 2;

int brt_diff_th = 15;

int return_code = ABHB_edge _mapping (gGray, gBuff blue, width_pixel,

height_pixel,
value, diff_distance, brt_diff_th);
// area_info[AREA_INFO_MAX] [AREA_INFO_CONTENTS] * E U ZfER L T

int n; _
int+x area_info;
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int* area_info_p;

area_info = (intsx)malloc(sizeof (intx) * AREA_INFO_MAX) ;
if (area_info == NULL) {
return -99;

}
area_info_p = (int¥)malloc(sizeof (int) * AREA_INFO_MAX * AREA_INFO_CONTENTS) ;
if (area_info_p == NULL) {

free(area_info) ;

return -99;

]
for (n = 0; n < AREA_INFO_MAX; n++) {
area_info[n] = area_info_p + (long long)n * (long
Iong)ARE?_[NFO_CONTENTS;

// BEEFL—RLET
int area_info_counter = 0;
ABHB_area_trace (AREA_INFO_MAX, &area_info_counter, area_info, width_pixel
height_pixel,
gBuff_red, gBuff_green, gBuff_blue, condition_func_coin);

/) hLY T4 LY R)ICEBESTLET

char dump_file_name[256];

sprintf (dump_file_name, “trace.bmp”);

ABHB_bmp_read_write (1, dump_file_name, gBuff_red, gBuff_green, gBuff_blue,
&width_pixel, &height_pixel);

/@M@IUTK%étﬂihTUéIUTE%ﬁtbiT
int m;
for (n = 0; n < area_info_counter; n++) {
if (0 <= area_info[n][0]) {
for (m=0; m < area_info_counter; m++) {
if (m'!'=n & 0 <= area_info[m][0]) {

if (area_info[m] [4] <= area_info[n][4] &&
area_info[n] [5] <= area_info[m] [5] &&
area_info[m] [6] <= area_info[n][6] &&
area_info[n][7] <= area_info[m][7]) {

area_info[n][0] = -1, //
area_info[l1[0]=—1ICF 5 &ICKY DT FIFEMTHDHELFET

/] B LE=T Y7 EBTHEDEREY )

TLET
for (i = area_info[nl[4]; i <=
area_info[n][5]; i++) {
j = area_info[n] [6];
gBuff_greenl[il[j] = 0;
j = area_infol[n] [7];

gBuff_greenl[i]l[j] = 0;

for (j = area_info[n][6]; j <=
area_info[n][7]; j++) {
i = area_info[n][4];
gBuff_greenl[i][j] = 0;
i = area_info[n][5];
gBuff_greenl[i][j] = 0;
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// area_info[]l[0]=—1%EHNT)7ELT, LTI TDHFEZRLTY—LLET
ABHB_sort_effective area_info(&area_info_counter, area_info);

[ /[Hxkrkrk Z N LIBEAY ) R B 1 D5 D ZE T IB NS Bfkekkkorkok

[/ BT TAONEAIARTHSLI_EEZHERLET
[/ TUT eBALEROMEOD[IZEZAOFILER, MERSOFHEEZEREL
ML?;VH%LE?E@t»#ﬁﬁbfxHﬁ@%ﬂtat?t»ﬁ%b%ésﬂﬁ
int outer_pixel = 10; // ADNElET HEEDE
int margin = 5; // BEEDBTEY L HEZHDY T BB
NDEEI—I Y
for (n = 0; n < area_info_counter; n++) {
int area_w = area_info[n][7] - area_info[n][6] + 1; //@
int area_h = area_info[n][5] - area_info[n][4] + 1; //@
int diameter = (area_w + area_h) / 2; //®
int radius = diameter / 2;
int center_i = (area_info[n][4] + area_info[n][5]) / 2; //@
int center_j = (area_info[n][6] + area_info[nl[7]) / 2;: //@
int in_blue_counter = 0;

LET
DY EH

int in_counter_all = 0;

int out_blue_counter = 0;

int out_counter_all = 0;

for (i = center_i - radius — outer_pixel; i <= center_i + radius +

outer_pixel; i++) { . , _ _ , .
for (j = center_j - radius — outer_pixel; j <= center_j +

radius + outer_pixel; j++) |
if (0<=1i & & i < height_pixel & 0 <= j && j <
width_pixel) {
int circle value = (i — center_i) * (i -
center_i) + (j - center_j) * (j - center_j);
if ((radius - margin) * (radius — margin) <=
circle_value && circle_value <= (radius * radius)) {
if (gBuff_blueli]l[j] == 255)
in_blue_counter++;
in_counter_al |++;

if ((radius + outer_pixel — margin) * (radius +
outer_pixel - margin) <= circle_value && _ _
circle value <= (radius + outer_pixel)

* (radius + outer_pixel)) {
if (gBuff_blueli]l[j] == 255)

out_blue_counter++;
out_counter_al [++;

}

]
if (0 < in_counter_all && 0 < out_counter_all) {
in_blue_counter = in_blue_counter * 10?0

/ in_counter_all; //®
out_blue_counter = out_blue_counter * 100

/ out_counter_all;

//® |

. // in_blue_counterA60%LL L. out_blue_counterh10% LI TDIZEAFE L

char circle_message[64];
if (60 <= in_blue_counter && out_blue_counter <= 10) {
sprintf(circle_message, "FRZTT ! ”);

else {
sprintf(circle_message, "FAXTIEHYEFEA '),
3
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printf (" %2d center=(%4d, %4d) area_w=%3d area_h=%3d diameter=%3d
in_blue_counter=%2d out_blue_counter=%2d %s¥n”
n, center_j, center_i, area_w, area_h, diameter,
in_blue_counter, out_blue_counter, circle_message);

/] BED{EZ%area_info[]1[0]I1Z. filEiE%area_info[l[2, 3]ICEREFELET

area_info[n] [0] = diameter;
area_info[n] [2] = center_i;
| area_info[n] [3] = center_j;
// BEENGAIADIA UNERELTE2IaM VORHEEZROETTD
int result_yen_all = 0;
int diameter_th[5] = { 219, 229, 237, 246, 264 }; // THEESOHENDER
R, 50&£5MDOHR - - - 10&£500H D B EDEEFI
int yen[6] = { 1, 50, 5, 100, 10, 500 }; // EEZEDEF|
for (n = 0; n < area_info_counter; n++) {

int k;
int result_k = 5;
for (k =0; k < 5; k++) {
if (area_info[n][0] < diameter_th[k]) {
result_k = k;
| k =5;

result_yen_all = result_yen_all + yen[result_k];
printf (" %2d center=(%4d, %4d) %3dAE HFt£EE : %4dMH¥n",
n, area_info[n][3], area_info[n][2], yen[result_k]
result_yen_all);

free(area_info_p);
free(area_info) ;
free (gGray_p) ;
free (gGray) ;

return 0;



